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It was only necessary to teach this ruling when his ox gored, etc.

OVERVIEW

The x7n3 interpreted the ruling of HXWw> 7¥mn %Y 7¥n» in regard to XN 13
177 X1n? 7°7°7. The p°n is considered a 987w and is not required to pay a
07w pri. The issue MooIN addresses is that we can just as easily say »n"yn
0"y, (but) in a different case.

nooIN asks:
= 952999 72)Y NNNN DY NNNN 919995 891 YN 33 Y917 NN

It is astounding! For the 71wn could have just as well ruled that if the city
is half (Jews) and half (gentiles), the child' is considered an 2°331> 73W;

instead of saying that he is considered a 2X7w°. The child will be considered an ">y, in a
case where —

= 19957 NINY 11T XN NI
Our (Jewish) ox gored his (the child’s) ox; the child is considered an 2"15¥ and the
ORI is Mo, Instead of saying HRWw° nnx¥n %Y O¥n» in a case where XMN? 7707 RN 1A
17°7 (and he is Mwd from a 2w pr1), the mwn could have ruled 2"2y "Y1 in a case where
7T RMNY 177 RN 1A (and the 98w is Mo, unless the child can prove that he is a
oxw)!2

MmooIn addresses an additional issue:
- N33 19339 9929135 2813 %1 RNYN >n91a]

[The entire issue (whether he is considered a X or 2"19¥) could have

been portrayed in regards to goring; without resorting to the cases of 17298772
m>21 and N’ -
:[ 5199981 290 199 .WTN 937 NINIY TN Y3 XPY) NIN

However it is desirable to find a novel case for each ruling. Therefore the
X3 chose to discuss the cases of 772K 7°m2 and M»°21 12°0K:77 in addition

" The term child’ is used here as an identifier. It is referring to the person whose lineage is doubtful.

* See ‘Thinking it over # 1.

? This last section of Moon is bracketed in the original text.

4 5xw Hxw M is concerning 77°7°7 807 17°7 X710 1217 and the 8w is 2717 (see ‘Thinking it over’ # 2);
SR 1"y is concerning 17°7 RIN? 717777 XN 1317 and the child is 21 only 7¥n»; 2"y 05y 217 is
concerning 77°7 X1IN7 7°7°7 X710 1237 and the child is 25w pria»n.

> This may be an addendum by the p1123017 0" 0. See: 294 ' Mx 3"7w. He mentions there ('3 NIX) that the
N190IN on ¥ Nox are from the p7121v171 2"n. This [bracketed addendum] is a summation from a nN»dOIN
in R? 7"7 X.77D 77 RAY.
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to Al a''ann.]

SUMMARY

The rule by 781 v nxnn could be stated that he is considered an 0"y in a
case of 71°7°7 XR1n? 17°7 X0 mad. [All three rulings can be explained in terms
of ima1. The X3 however desires to offer a different case for each ruling. ]

THINKING IT OVER

1. Is mpoIn (first) question® that instead of saying ?Xw> »"v» it should have
said 0"12y »"yn;’ or is MOOIN question that since by »"v» in certain instances
he is considered a X7 and in certain instances he is considered an 2"y,
how can we identify him as either?®

2. mooIn insinuates (here and states clearly in X»1° noon) that by SR> 217 if
77 XMNY 7777 XN 13 the X would be 2»n.” According to the previous
212 7" MooIn the rule of 2177 ANK PPA 199917 PR should apply here, for
the P™m owns the money 1n°ma! Why therefore, should the %%7w° be

obligated to pay, unless the child brings proof that he is a 5%w°?!"°

DRWI TN O TN
We shall return to you nxw: 79102 P09

® See footnote # 2.

7 If this option is accepted, a reason is necessary as to why one choice is better than the other.
8 See p mx 7"20.

? See footnote # 4.

10See 771 mwn (170w & "y TIw1] 277 70W DATIAR) W'KIT MO,
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